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This year will be focused a lot on polynomials. In order to fully define a polynomial, there are some other

1.1 Classifying Polynomials and Distribution

‘terms that we will need to know as well.
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Polynomials come in many forms. In order to classify a polynomial, we look at two things: the

dead and the_umMPLT £ decms

Deacee 05 (pastoat - pe Juciable
Degree 1: Linear o | Oneterm: Moo mia\
_~,| Degree2: Auedatic x2 Two terms: ;Ao i gl
Degree 3: cdb'iu “&’5 Three terms: ’ﬁ‘iNDMM—‘
Degree 4+: Y™ ?QS&’ & Aﬂg({b’c}(‘ Four or more terms: '?O\YMM“L\
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1) Identify the information for each polynomial. Then classify the polynomial.
a. —10b(C1) ¥ sia 15 b. —2a%C2d)+7

Coefficients: -0 @A—mc/\!\e)» Yo Coefficients: ~ Z, -2
Constants: — | CW%O‘UH— Constants: 7

Number of terms: 2. Number of terms:

Degree: | Degree: 2.
>k Classification: L.' neas \D'gl\alvvi o\ Classification: adu&.{n'\i(, —\—(41/\3;44; ci,\
# SOAL 05 “Type' on HW
c. —6x5—8x*+5x3—10 d. 8y
Coefficients: - (s, —f{l 5/' 10 Coefficients:
Constants: ~ {0 Constants: ()
Number of terms: 4 Number of terms: |
Q" Degree: S Degree: |

Classification: 5"“ A%(‘u» @O\YWQI Classification: |.1n2al mernom! A
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Something that you will be asked to do a lot is to simplify an expression. Simplifying basically means that we

are going to make the expression look nicer.
A step to simplifying is to combine like terms, meaning \/QU (774 C@M£M‘L m
i derpteg Hhat hawe  stume \!cmaba 7 sanne w(‘*/tgﬂ"]"
Ks.gt’\ s avrached Yo wﬂf’f—vu et
2) Simplify each expression.

a.@t\%\@;\/@c\-&l?» ; @ 443 J@\-@

2" ~ o 13 1@”-'»11431—!%!«
C. @—7;%@7712 d. @+2n2@-n3+7
m?-Ten +14 N R A |

Another tool to help us simplify is called the distributive property. To distribute a term is to multiply it by each

term inside the parentheses. _ . ’
Wrike all gaswers stondard dorm

3) Simpli ch expression.
a. 9%) b. —@)
1
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d. 7(8+8k)+1
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